FILE: Joseph_ Assignment_Geometry_5.doc by Joseph T, Wunderlich PhD, 2015
EDUCATIONAL ASSIGNMENT for JOSEPH JOHN WUNDERLICH for 11th grade

This assignment covers the following Educational Objectives (Subjects marked with a ‘W’ are the main subject, and those marked with an ‘0" are secondary subjects):
B Geometry

Solve the following problems. Use a pencil.

1. The sum of the areas of two squares is 85. If the sides of both
squares have integer lengths, what is the/least)possible value
for the length of a side of the smaller square?
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2. What is the radius of a circle whose circumference is 7?
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3. In the figure above, A, B, and C lie on the same line. B is the
center of the smaller circle, and C is the center of the larger
circle. If the radius of the smaller circle is 7, what is the
diameter of the larger circle?



4. O is the center of the circle above. Approximately what percent
of the circle is shaded?

(A) 25%
(B) 37%
(C) 50%
-3 (D) 67%
(E) 75%

5. The volume of a right circular cylinder is 343w cubic
centimeters. If the height and base radius of the cylinder are

XQ} equal, what is the base radius of the cylinder?

(A) 3 centimeters = 17
212 (B) 5centimeters = | PANS
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| E) 25 centimeters
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